
To find the answer to the riddle, write the shaded letters on the lines in the

same order as they appear in the puzzle.

 _____  _____  __  _____  _____  _____  _____  __  _____   _____  ___  _____  _____   _____   _____

_____ __   _____  _____  _____  _____  ___   _____  _____  ___   _____  _____  _____ 

Write the name of each shape in the puzzle.  Use the word bank to help you.   

Why does a golfer wear two socks on each foot?
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Instructions:

Write the name of each shape next to its picture in the puzzle.  Use the word bank if stuck.  Then 
write the shaded letters from the puzzle in order on the lines at the bottom of the page to solve 
the riddle!

Helpful Hint: 
Think of real-life objects whose shapes match the ones 

listed in the puzzle.  Also, cross off the shapes in the word 
bank after each one has been used.
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